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Marks Distribution for SA2 Class:Viil (2018-19)

(Mathematics)
it 1vg | 2nfad | 4nfx 6 Md | & nid
TB T3 TB TB
I3IIHE 1 1 1 7
frmifit ! 1 6
THMAT 1 1 1 1 13
g gifesa .
fenfad »i3 2 1 1 1 14
OH nialrgt = 1 1 1 7
1 13
TEaustads 1 1 13
HitmiTet 57 1 1 1 7

g% nia=80
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Model Test Paper 2018-19
HS® 2Ae QuT 2018-19
&<t SA2/ Vili- SA2
aIfE3(Mathematics)
I nig:80/ MM:80 AH': 3 W2/ Time: 3 Hrs
#gst 32/ Imp. Note I
.38 yYrs 1 3B 8 Iq ¥ nix e B 0% |
Part A: All questions from 1 to 8 carry one mark each.
22T-MYAE 9T B3R 16 3T @ nix =8 I5 |
Part B: All questions from 9 to 16 carry two marks each.
3.39-E YRS 17 3B 24 3T T nix B T | fegst ymst g faf & s ymet fiog
viegat g€ Jaft | |
Part C: All questions from 17 to 24 carry four marks each. There will be internal
choice in three questions
4. w—nwzs?%ézsi&éﬁae@amfea#m%qm#ﬁ%ﬁ?gﬁézﬁéaﬁ |
Part D: All questions from 25 to 28 carry Six marks each. There will be internal
choice in all questions

g1 8( Part A)
I3 YA T 1 vi& I (Each question carries one mark)
1. WW-W&%%WW%@W%@W@WW&%

Give examples of two things from your surroundings whose shape is a quadrilateral.

2. 2y 03 22xy T HIST JESUS UST IT |
Find common factor of 2y and 22xy.

3. I3 39 v fl3 y=te= 3 Jaeg 39
What is the percentage of shaded portion in the given fiqure.
(a) 25% (b)50% (c) 75% (d) 100% \l/
4. ﬁfe‘amﬁﬁﬁwwﬁﬂiﬁfeﬁ?rﬁaaﬂwﬁm@% N fam Aftmr & fonfos 39
3 I Jeian?
I'am a number whose unit place is always even. By which number | will definitely be divisible.

@2 (b) 3 (c) 4 (d)8
5. fnma syyffgxergeia 3

Coefficient of x in expression 5xy is
6. (atb)2=a2+ + b2

7. B wz ? 6 Tma I g5 (Hdt/Ams)

A cube has six faces. ( True/False)

8. nifEs T ¥39EH T P39 2x( Baeh+ Javeh dTr 1 (AR/A®)

Formula to find the area of a rectangle is 2x( length + breadth). ( True/False)
g7qT 1 (Part B)
I9% yrs = 2 i I: (Each question carries two marks)
9. W 93937 ufgeg I of| HIft Ardtort gamet 9meg i 1Y &= FHSE O% ng
.......................... € B &% AT wer 31 NS 92 feggs de I51

I belong to quadrilateral family. All of my sides are equal and all my angles are right angles. | am
known as . Both of my diagonals are

)



10

11.

12.

13.

14.

15.

. 83 08 nigur3 3 yIims e wes: 34
Convert the given ratio into percentage: 3:4.
EERIEUC R

Add the following expressions:
2p%q? - 3pq + 4, 5+7pq - 3p3q?

ISt fESit nirfegEintt &5 famer As9es =0 39
Which of the following figure has greater area?
5 A 7 AH
4 AN
fg9-1 fgs9-2
&3 fonina ¥ greads 996
Factorise the following expression:
5x2y — 15xy?2
35 feu 77 f&g An2 BuzT a9:
Find the value of A and B in the following addition:
A
+ A
A
BA

féq <gar &t JoaT aF famet ¥ 3w 5.6 AN 32

Construct a square whose one side is 5.6 cm long.

16. €K A T 5 T@L ™3 9 famd T5 1 fome gt o st usT &3

A solid has 5 faces and 9 edges. Find the number of vertices it has?

a1 € (Part C)

JIX YHS T 4 nig J: (Each question carries four marks)

17. faR AHT3T 93937 € € AR A& T MiguS 3:2 T A3 93987 © A J&F & HY U™ 9|
Two adjacent angles of a parallelogram are in the ratio of 3:2. Find all the angles of this
parallelogram.

|t

&5t 3t nirfat = GrR gt o Bt fiws &9 :(Match the given figure with its properties)

1.

S

P

fer i 513 gret vi3 919 3 F9Eg 92 I

( Its all four sides and four angles are equal.)

%ﬂﬁwwmmgﬁmmmﬁémmmﬁ'g@
Ud 8 T/ 3 AHAE 3 ANESTHS I9¢ 95 | (Al four sides are

equal. two diagonals are unequal but they are perpendicular
bisectors of each other.)

HEHY 3T €7 = fEq 73T ANET Jer 31( Only one pair of
opposite is equal.)

Ia | (Its adjacent sides are equal and all the four angles are right
angles.)

)



18.

19.

20.

21.

22.

23.

24.

93997 (ABCD) & 99a &3 fam f¥g AB=4.5cm, BC=5.5cm, CD=4cm. AD=6cm »i3
AC=7cm d<2 | .

Construct a qudrilateral ABCD in which AB=4.5cm, BC=5.5cm, CD=4cm, AD=6¢cm and
AC=7cm .

ffg @Az v s 15,500§1rén°nf8ﬂv°rua“n3§4soguéuagaa§fen§ 15 % &3 3 Afgnr
Aerd | ero v s uzr 59
Price of an item was Rs 15500. Rs 450 were spent on its repair and then it was sold at 15% profit. Find
the selling price of this item.

Gy
feat geam 2 3 s ity Ao 93 G 9 10 ot o9 i arfis oSt 3 B & fis & 40%
H 37 87 2 3 o R e a3 | |
A football team has won 10 matches out of the total matches played. If the percentage of matches
won is 40% then find the total number of matches played by this team.

JS5SH U3T I
Find the multiplication:

(§ xy) x (;—;’ xy)

Draw top view, front view and side view of the following solids:

Sus(
8u3(top) = Sttop)

i

ST o o uh(side) ) “[; fe i (side)
R P
RTIHE(Front) HATIHE(Front)
fg3-1 fez9-2

A9 4 HieT Buet o8 X T9araT gon @8 Y [
3 2 Hizg I3t 8 ¥ nrfesrarg gom @8 ang |
< TIH § ToT BE ANG H39em ¥ I ©F 7g9s
Jet I 3 orfesag v @ st &t 0

A room with square floor is 4m long and another room with rectangular floor is 2m wide. Both the
floors require piece of cloth saving same area. find the length of the room with rectangular floor.

&3 fonina @ greads g6
Factorize the given expression:
49x2- 36

3125, 3 v f¥x gam I, B8 z a vig 3, 37 2 &7 if® off T AT 37

if 3 is a factor of a number 3125 where z is a digit then what would be the value of z.
|

(1) 97396 €t 4 &% FHUAST T YIS T |

Check the divisibility of 97396 by 4.

(2) 72974 & 11 5% IHGEAST & UIIH T |

Check the divisibility of 72974 by 11.

&1



3731 H(Part D)
TIIX YAs 6 nid ¥ I: (Each question carries six marks)

25. 12600 gzwzméwlo%mﬁﬁmﬁmmwaﬁrﬂ%%{ﬁwmm
32

find the amount and compound interest on 12600 rs for 2 years at 10% per annum compounded
annually.

At
(i) 40 dfonit T AIYT I U3T a1 fX 25% 99 deus I3 URT S92 95 1UST &5
fa {5 dfontt § oo Az urie &t J1
From the survey of 40 Children, it was revealed that only 25% children like to play
football. Find the number of children who donot like Football.

(i) fEx fentast & 3aug fF9 10% For Jer 317 GRet A<t 3wy 1,54,00 U I 3 QR
H® 35HT UT AT |

A man got 10% increase in his salary. If his new salary is Rs 1,54,000, find his original
salary?

26. TS IIAHA T Quiar 5% Jo it & s usT w9
Using appropriate identities find the value of the followimg:
a. (102)?
b. 78 x 82

HIS 3. (x+y) ( x2-xy+y?)
Simplify: (x+y) ( x2-xy+y? )

27. &3 a foz9 fiv fam 3% < ut
AT ¥ U3JeH frmier I w3 fiar? ! [

In the given figure which box has larger ! "
lateral surface area?

At

14 7 St T3 R nifezrarg avem § Famet
WEHY HE & 20 AW nigufeni oo 87 2o T~
gaenT famr 31 fer 3o & wifess usr 391 "‘1“"‘ J‘]
A rectangular paper of width 14 cm is rolled along b

its width and a cylinder of radius 20 cm if formed. Find the volume of the cylinder.
(take m=22/7) :

20 cm

28. fenlAa q2-10q +21 ¥ Jeads g8
Factorize : q>-10q +21

F3% &3 5pq(p’-q2)+ 2p(p+q)
Simplify: 5pq(p®-g?)+ 2p(p+q)

&)



